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Except answer-book, no extra sheet will BC; given. Write to the point and do not
strike the written answer. 'ff;t: |
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Candidates must write théir Roll No. on théquestion paper. Except Roll No. do not

write anything on question paper and don't g;ake any mark on answers of objective

type questions. L‘Q
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Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.
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(vi) 57 GEr 18 @ 20 % & FANT T & U9% J97 5 H H &l F9F F97 F IIT
FTHT 70 &I 7 gy

I(:,;ii) mw#wmﬁﬁéﬁmaﬁ%mﬁwﬁ sfF ar qi & FahT FeAl H
WWWWW%@W# W%wﬁwqwé‘z
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General Instructions :
(i All questions are compulsory.

(i) Marks for each question are indicated [g_gainst it.

1 r“ ' : | |
(i) Question Number'1 consists of ﬁﬁger{g-xv] objective type questions carrying
1 mark each. Candidates have to wﬁ{é the correct answer in their answer-

book.

L]

658
SO

(iv) Question Numbers 2 to 9 are very short answer type questions of 2 marks

each. Answer these in about 30 words each.

(v) Question Numbers 10 to 17 are short answer type questions of 3 marks
( each. Answer these in about 40 words each.

(vi) Ouestion‘Numbers 18 to 20 are long answer type questions of 5 marks each.

Answer these in about 70 words each.
- ' >

- (ﬁii)‘ There is no over all choice. Hawevea internal choice is given in all long

answer type questions of 5 marks eacﬁ You have to attempt only one of the
given choice in such questions. &t
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[ Ohjecti% Type Questions ]

L () TR faea § q9 e @ .
‘ P
(A)  Erar rN-(B) QAT 319
(€) I T E(D) T

[sotonic solutions are those solutions which have same :
(A) Concentration - (B) Osmotic Pressure

(C) 'Sj.lrface Tension (D)I Viscocity

(i) ®ed EEFE S (SHE) 3 fiw @ sawgs dfera B 1
{A) 0.5V B) +1.0V
i OOV - a P(D) t20V
Standard Electrode Pntentig for Standard Hydrogen Electrode (SHE) is -:
YA SpBY L €B) +1.0V
(C) 0.0V (D) +2.0V
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(iii)'mﬁﬁﬁ%waaﬁmﬁﬂﬁm:ﬁﬁq: 1

% ot ‘
K =1.6%x1076 L Mol Sec™!

ERBIN S ) e
© fha D) AR
O

Identify the order of reaction rfrom ' the givcn rate constant
K =1:6%x10"% L Mol™" Sec™ 'z .-

(A) Zero i 7 (B) First

(C) Sﬂchnd B 3 - (D) None of these

Sy oal _ B) -6
(C) 8 | | b oot (D] 51_

What is the cnﬂrdina_tiun number pf Cobalt in the [Co (NH;3)s(CO3) |Cl

' compound ? g R
. ity g
(A)-4 (3 B) 6
(C) B (D) 5
- 229/(Set : A) RO
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(6) 229/(Set : A)

(v) Tefoied & @ Rre fae waifee 2 ? ' 1
- (A) CHCl, | (B) CHiCl
(C) CH,Cl, | (D) CCla.
- _
Which one of the following has the. h_ig(ﬁes‘t dipole moment ?
(A) CHCI, w4 (B) . cHEL
(C)  CHyCl, . (D) cay
(vi) G’lﬁﬁo‘ﬂT CeHsOCH + HI — 373 K »ApB ¥ AFRBE : 1
. ,. o
(A) CgHsl, CH;0H E

(Bl CgHsOH, CHalI

[8]-55%
o
(]
(C) CgHsCH,OH, CHaI
(D) CHsCH,I, Cs HsOH
373 K

‘In the reaction CgHsOCH5 + HI »A+B, Aand Bare :

(A) ' CgHsI, CH;OH

(B) CgHsOH, CHal

ATo277

(C) CeHsCHL0H, CH3l
(D) CH3CH,I, CoHsOH

. 229/(Set:A)
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(vii) AFE CqHsCH = CHCHO TUBKG T 22800 S/ 1
| N
[UPAC name of the compound ‘[QE,HSCH o CEICED) I8 olevasiniiin : E
 (vidi) U I o H gemehiar ¥ Qfd el o § gemehier 7@ @ £ i
Ethyl amine is soluble in wate@ut Aniline does not. |
0 . |
- . [‘h‘ . + |
(ix) ﬁmﬁ@rﬁﬂ-WWRmﬁ%aﬁﬁDmﬁﬁﬁ?_ 1
(A)  grEHA (B) wZerd
(@) TN - (D) T
" Which base is present in RNA but not in DNA ?
(A). Thi.rrnine 5" (B) Cytosine
(C) Guanine .(D) Uracil
_ | =
_r"-q
. o | _
(x) oTfhaT & BT ... G[E["&(:3:<10‘4S‘1. _ . 1
~ Order of reaction is ............ .., when K=3x10"%s"1. |
- 229/(Set : A) (S o RO,
2
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' (8)
(xi) ﬁwaﬁwaﬁr{qﬁﬁq

SH , CH,,OH Conc. HySO, |

g 443 K
N

\O

Y
Complete the fo‘ﬁuwing equation :

CH3 CHQOH Conece, H2304
443 K

--------------

Deficiency of V@min D catises .. L.l i
. W% |
(xiii) FHRE foerae @ € 7
What are isotonic solutions ?

(xiv) Kz[Fe (CN)g]AFH [UPAC 7 Ry

| Wﬁte [UPAC name of Kj[Fe (CN)g] Compound.
(xv) WG, Yehien HOHET Tl T @ 7

-, , .
Why Phenol is fore Acidic then Alcohol ?

229/(Set : A)
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WO | (9) 229/(83t . A)
[ iRy FA0T 09 |

[ Very Short Answer Type Questions |

e
2. 39 Rea # A H T B Rredige NaOH, 200 mi e g ogan ¥ 2

B O
Calculate the Molarity of a solution %ntaining 4g NaOH in 200 ml of solution.

amwwmﬁqﬁwﬁﬁaﬁmu & : . 2
Define Catalyét and ﬂctival;iﬂn Energy.
‘4., gy g Y Fed € 7 [poL ] ¥ Qe & ey @e S # i -
I What i 15 co-ordination number ? Whrﬁ will be the co-ordination number of Pt in
AR R
' &

-5 ﬁ?ﬁiﬁﬂﬁ%ﬁhﬁﬁﬁﬁfﬁﬁﬁﬁﬁﬁﬁ?ﬁﬂsﬁaﬁﬁﬂh? i3 o 1%
0 QcﬂszﬁrQ
(i) MIG:?IT MCE.-

In the following pairs of halogen compound which would und_ergn SN? reaction

faster ? (
(i) < >—CHyCland AT

(i) -~~~ and L

276277
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(10) 229/(Set : A)
G.WH@WWWQTWW@%? .
c\] |
Why transition metals and m&ﬁy of their compounds show paramagnetic
behaviour ? - r.t'.'
7. P ARG i SwEer i e Bt . €
. i
£ - | ‘ [‘l"
Explain with example Kolbe's rea{gcn.
[~
=)

.a.mmﬁa,'aﬁrﬁaﬁquamammaqwmw i 2

. ot e gl =TT,

Give reason for the higher bmlmg point of ethanml in comparison to _
' methﬂxymethane ? |

Eﬁ
%ifﬁ
Q.QEWHWW Waﬁmﬁ%@maﬁqﬁm%mﬁzﬁmﬁwﬁﬁm

? TR | _ 2

. Write down the Gattermann reaction, and why this reaction preferred over
Sandmeyer reaction ?- -

[ §g ST 599 ]
[ Short Answer Type Questions |
10. (i) %ﬂ’ﬂﬂﬁ'ﬂqw-#eﬁﬂﬁm T 5
State Henry's law and give tzﬁ applications. '

(i) wﬁwﬁﬁfaﬁﬁﬁﬁmﬁgﬁwwaﬂ%aﬁn@%mﬁaﬁ%? 1
Why do gases always tend tﬂ'gﬁ less soluble in liquids as the temperature is
raised ?

[=]z/[a]
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| ( 11) 229/(Set A)
24, ﬁw%@a%wmmmmﬁmmﬂmﬁ AEITFAT &

() TFH9 A1%* F Al
() TF AR H0 F 0,
(i) T AW MnO, & Mn?*

1

1

CA76277

1

How much charge required in Coulomb for the following reductions or
oxidations ?

() 1 moleof A®* to Al
(if) 1 mole of H,O to O,
(iii) 1 mole of MnO, to Mn?* [~

™~
N

12. TF 999 Fiic I aAfutear & 30% &dem 29 49&‘1?{3%@1 t1® TR FifT 3

A first order reaction' takes 40 min. for 30% decomposition. Calculate half-life

period.
S
13. THEl, 2l Ud SHgEl [ofvs #1 & 7 9% % Saredv g 3

What is meant hy unidentate, didentate, and ambidentate ligand ? Give an
example of each. |

. g el foe :
() &AM r~ 1
r-q..,
(b) 2o Fo o O 1
M~
(c) CEERIHAIEg e 1
229/(Set : A) P; 0.
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(124 229/(Set : A)
Write short notes on : ' r'(\:
(@) Freon [‘k{':3
(ol DD &
(c) Tetrachloromethanc
15.@%%%%%%Q%WW%WW%WW| 3
Write three steps mechanism of acid degrdratinn of ethanol to yield ethene. i
. < | |
16. (i) g ofhRr W oy Rl fafan 2

Write short note on coupling reaction.

.Fii) mﬁm&*ﬂw%ﬁa@wﬁ%@r'%ﬁmﬁﬁw@mﬁwmﬁﬁmﬂ%? 1

Why Gabriel imide T ' . :
amf; g rie phthahmllcle synthesis is preferred for synthesizing primary

17. () &N ﬁg@aﬁg@wqm ST T & 7

2
: What is the basm structurai difference between SfaI:Ch and cellulose ?
uﬁmmmwﬁ’rwwﬁﬁ%? ;
'What are nﬂn-essential amino acid ?
[ aﬂ'ﬂisrw 1'
_ [ Long Answer Tm Questions ]
18. {i),m%ﬁgamw%ﬁﬁﬂﬁfaﬂfﬂhﬁl -

Explain the both laws of Faraday Electrolysis,

229/(Set: A) r %
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: e (13)- 229/(Set : A)

i) NI{Noa)g%%ﬁwmr@ﬁﬂqsaﬁﬁ%aﬂﬁsﬁﬁqwﬁw ST FE g
QOWaEﬁﬁgqaqﬂmﬁmmeza?fﬁwﬁw%tﬁgwﬁ%ﬁﬁﬁﬁ?
(Ni = 58.7) 2

A solution of Ni(NOs), is electrolysed between platinum electrode using a

current of 5 ampere for 20 min., what mass of Ni is deposited at cathode ?

o
(Ni = 58.7) .
P
o
~ OR
@) SgEEtE A w7 ged orgE AR ' =

What is electrochemical series ? Give its applications.

(i) aR o g ax & 0.5 Wew A 2 g F g sEfed A E, O AR A | e
gAFg erfed & ? | . | 2
If a current of 0.5 ampere flows through a métallic_wire for 2 hours, then

how many electrons would flow through the wire ?

e
E'\
N
\O
19. Wiﬁ@qmlﬂﬁﬁﬁ:_ _ > R
(i Wﬁﬁ@@%ﬁrﬁ%aﬂg@ﬂ%ﬂwﬁﬁ@ﬁ%? 1
(i) AT adl B FOH A o @t e ¥ ? 1
of |
229/(Set : A) ‘Wi ﬁﬁlﬁ’% | R Ts:0.
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| , (14) | - 229/(Set : A)
(ifi) HPHT T WA N A = R E 7 1
s |
(iv) EHAOT TR oD TERT i D P % :
\O
(v)  MnO, 3TEH #t T=mT SRy o 1

Explain giving reason :

() Transition metal and many of their compounds show paramagnetic

behaviour.
(11) The enthalpy of atdmizatiqn of the tranﬁtimn metal are high.
i * S . . N
(11) The transition metal generally forms caﬁured compounds.

<G

(iv) Transition metal acts as good catalyst.

[a]:;
mﬁ
[&] %! ]
(v) Draw the structure of MnO, Ion.
TYEr
OR.
() URIGHREE 9 ¥ KMnO, R 3 fu R & & Imi@ i 3
" Describe the preparation of KMnO, frm[p__ Pyrolusite ore. |
| 2 e N
(i) fremgd @@ B ? & SR 4t b 5
| | G
- What are alloys ? Give two examples. |
 229/(Set:A) R .
. ¥ M
[=]Z
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20. (a) ™= @1 qofs &Y : », ¢
() PR s §
(i) feHreifrae :
(b) R B P & ol X - 3
) A 1, 3-SR E} .
(i) T 2-37@ E

(i) -2 TH A

(a) Describe the following :

() Cannizaro Reactiﬂn. |
% -
(ii) . Decarboxylation
(b) Convert Etha;al into following :
(i) Ethanal to Butane 1,3-diol
[iij Ethanal to But 2-enal

(iii) Ethanal to But-2 enoic acid

AT6277

229/(Set : A)
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OR

Q) e Y W s
(i) SA-PIeTS Sfcien AR
(i) e

Describe the reaction with the help of equation :

AT6271

(i) = Cross Aldol condensation reaction
(i) Hell-Volhard-Zelinsky reaction |

(iii) Esterification

776277

TN
B

-~
=

A76277
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.'_'.:,'572-291(Set : B/

CLASS : 12th (Sr. Secondary) Code No. 229

Series : SS/Annual-2023

B76274

w@ET e
CHEMISTRY
T[ Hindi and English Medium ]
ACADEMIC/OPEN

B76274

~ (Only for Fresh/Re-appear/Improvement/Additional Candidates)

Time allnwed 3 hours j . : [ Maximum Marks : 70

X g'o"trc'rfuﬂq'qbf ﬁ%ﬁﬁ?—wﬁjﬁﬁfﬁlﬁ 7T 97 20

Please make sure that the printed pages in this question paper are 16 in number

and it contains 20 questions.

o JHT-7F H azz%#sr?r # T R7 T FS TET T AT F WWGF!?-W ? TET-7T g7

Gl

The Code No. and Set on the right side of the question paper should be written by
 the candidaté- on the fmnt page of the answer-book.

. mmwmmwm#%ﬁﬂ?ﬁﬁmmqﬁ@

Before beg:nnmg to answer a questmn its Serial Numbemust be written.

- oghm § e % ah g/ 7 A

* Don’t E‘E—‘:‘IF’? blank page/pages in your answer-book.
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Except answer-book, no extrq sheet w:ﬂ"be given. ‘Write to the. Pc‘mt dnd do not
strike the written ansyer LD

o TR ST T Fo gev-ux 97 oravy FART 7o #G?fﬁﬁﬁﬂ??f—ﬁww@yﬁq
waﬁ?éﬁh% SR % ST 4T Rl FET @ 9T T
Candidates must write their Roll No. on the question paper. Except Roll No. do not

write anything on question paper and don't make any mark on answers of objective
type questions. ﬂ* .

. WW$W?##FWWWW%@W?WWHW & qhar @ YU
A #lg A A whare 7@ e o -
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regurd; will be entertained after
examination. |

]

't

R .r-:l,:ii*;ﬁ '

Wﬁé&r
(i) aﬂ#mwﬁwf%
(i), mwwﬁwmwﬁm‘cﬂwé‘:
(iii) 797 TET 1 ¥ G7E (i - xv) a@ﬁﬁma}ﬁaé‘;mﬁsﬂ HE F &1 o7 ga

. T oY Fu-giaer 7 kgt &
(iv) 597 Ger2 @ 9 WGD%@'G'H??E?H?? & A T 2 SFR I 81 HA% 9T F TR
- @7 30 9= 7 gy
(v) 97 &M 10 & 17 7% Gﬁﬁ?ﬂﬁ?fﬂﬁ‘?ﬁﬂﬁﬁ’ wﬁwé‘rmfﬁwum
. TTHT 40 /= 7 Ay
(vi) mmm#zowﬁa‘aﬁﬁwmé‘;mﬁﬁs aﬁw%mmawaﬁ?
AT 70 $1=] F &gy

(vii) wvw#mw#aﬁg‘ﬁmaﬁé‘z 7Emg 5 meaﬁa‘aﬁﬁawq}#
oﬂaﬁawmﬁww% @#ﬂ###wmwﬁwa'm?f

CIg)

S
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(3) 229/(Set : B)

0274

General Instructions :

(i) All questions are cumpuEPry,

(i) Marks for each question are indicated against it.

(iii) Question Number 1 consists of fi fteen (i
1 mark each. Candidates hgve to write

book. [
(N

(iv) Question Numbers 2. to 9 ¥Wte very short answer
each. Answer these in {Ib{}® 30 words each.

-XV) objectipe type questions carrying |
the correct answer in their answer-

type questions of 2 marks

(v)] Question Numbers 10 to 17 are short answer type questions of 3 marks
each. Answer these in about 40 words each.

(vi) Question Numbers 18 to 20 are long answer type questions of,.5 marks each.
Answer these in about 70 words each. : '

(vii) There is no over all choice. However, internal choice is given in all long
answer type questions of 5 marks each. You have to attempt only one of the
given choice in such questions., - , ~

[ ST 99 | *-

[,Objective Type Questions ]

3.6 oSO, % R e 8 G (i) B A A ;- - 1
(a) 1 . | (B) 2 |
C | ~ (D) 3
(C) O . - _rN~( 8

P A | O ,
The Vant Hoff's factor (i) f% K250, is :

[/ | (B) 2

© o W o

P2 O,

229/(Set : B)
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oy (4) 229/(36t B]
(i) T W s ' ‘
Yge TX HAS G aT
(A) =S - i

(B) Wifeay v}
- o
(C) W e -
! m
(D) ®EZISH

Fused NaCl on electrolysis gives on Cathode is : I
(A) Chlorine

I(.B-] Sodium

(C) Sodium Amalgam

B76274

(D) Hydrogen

(iii):ﬁﬂﬂaﬁwﬁmm%m@aﬁﬁwm?ﬂaaﬁﬁaﬁ%laﬁﬁwwaﬂ%ﬁwﬁﬁm

qﬁaﬁmﬂﬁmmﬁaﬂa"rm? i o 1
(A) 4 T ® 271 |
A reactlcn 1S secnnd nrdemmth respect to reactant How is rate Gf rea;::tmn

O
affected if cuncentratmn ﬂlgeactant is reduced tm half ?

(A) 4 times | (B2 times
A 1 '-
(C) 2 times (D) 8 times

I22‘91(S'e:t . B) b

I-.
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. ‘ .. 229/(Set : B)
iv) A [CoCly(en),]Cl & PraTe @ waeddierRar = & ¢ ( 1
Ay 6 (B) o
(c) 8 4 (D) 2 t‘?‘q
O

What is the co-ordination numﬁg of cobalt iﬁ the -[Cung(eri)Q]cz
compound ?

@) 6 P - (B) 4

€ 8 -(D) 2
(v) wqﬁwmﬁ%ﬁﬁsmﬁwﬁm@% | 1
(A) Sy* ;’?
. e

(B) e

(C) AT

L

A tertiary aJkyl halide would prefer to Ilin;i'ergn :

(A). . Sy

§ ! £ 'f' =y
. 1 I = r Lig s
: b d‘j.r f:l‘”. ’ -"‘?
i
o

(B) Elimination .

<
B
N
O
[
m

(C) Addition

D) sy

P.T/O.

- 229/(Set : B)
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229/(Set : B

(6)
(v1) AT CH3CH,OH conc. H,SO4 , A AT e, 1
413K
~
(A) CH3CH,CH,CH, O
[*~
| M
(B) CH:EP,C"HgO(’J‘I—J’2 CH
(C) CH3CH,0 CH4 <!
| e
(N
O
In thﬂ reaction CHSCHQOH cone, HQSO;], y A: A will e
413K ,
o
(B) CH,CH,OCH, CH,
©) CHEH,06HS " . eeaeili

(D). CH, =CH,
(vii) A HOOC-COOH # UKL 7w ... . - B
. t"" : ! o 1H

. fat)
J[UPAC r_iamexuf compound HOOC-COOH 1s

""""""""

| , - 229/(Set ]B) % '
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(7))
[vlll)mmil “””Wﬁw li“%?
[""'-u
(A) CeHsNH & '
65Ny
t't_u.
(1)
B) CoHsCONH,
(C) CeHsNO,
(D) CeHsOH

Hofmann bromamide degradation reaction involve :

(A) CgHsNH,

-fr |
fll;‘

- (B) cﬁHscoNﬁ

(C) CBHSNOQ

(D) 05350H s

.:"fr li"’ !"r "‘r "'

—e

(ix) ’Hﬁﬂ%ﬁﬂﬁwﬂ‘@fﬁa‘aﬁw%?

(A) Ih'c‘Fr |
(NS @
e
©) AdETEe ““
| (D) eEAHTTS
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<t (8)
GlyCGgEn 1S an E.Xan]_pgﬂf
(A) Protein i“*
(1
(B) Polysaccharide

(C) Monosaccharide

(D) Disaccharide

<t
: o
tg) e @ W L oy K = 3x10™* Lmol s,
Order oflreactiﬂn I i , when K =3x10"*Lmol™'s™.

i) PR SR 4 g A

Complete the fﬂllmwirig reaction :

 RCHyOH —COaanhydrous) (7,
() e T S /A ARl S IR
Deficiency of Vita_tﬁin 'A' causes . ’ R

{M}W%Wﬂmﬂ%?-

What is the cause Gf eﬁvaﬂnn in bmhng point ?

[
A

(m) fCﬂ (Nf;fa )e.]Cfa AH 1 IUPAC wq RifaT

l e IUPAC name Df [Cﬂ (NHs) ]Clg compnuhd.
BN

229/(Set : B)
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(9) 229/(Set : B)
1

() QAT 1 Qe Pt R e SRR T

~
Name the reagent used fH dehydration of Ethanol intg Ethene.

QN

[ ey S He )

<
[ Very Short Answer Type Questions ]

é;___:_*:‘j_2»Wwﬁmwﬁw5.6gKOH,500m1E{E|q?fﬁ§FIT§GHT%I 2

G ‘ . :
Calculate the molarity of a solution containing 5.6 g KOH in 500 ml of solution.

¥E
p: ?'ligézﬂ
G -
() IwWEEwl e .
) g e <
Explain the following : S
_ - p{00

(i) Ambident Ligands

(if) Co-ordination Numbe__r__'{‘ ;

229/(Set : B)

'ﬁ‘jj;_-_._a. aﬂ?srrlﬁ;m A T AR 3T A TR it ' e 2

Define order of reaction and instantaneous rate of reaction.

P:- . O

www.OursGuru.in
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5. frefdied eaior ARG et § § S dg SV silear 3 ?
1 ot es faste
In the following pairs of halogen c@pnunds which compound undergo er
SN 1 reaction ? =

Cl

m |
| S
/}\ ' § /\/\A VAVAAY
(i T (and) \ A (i) 1 (and) / |
6. HHI IR B FH A & A T A A X 7 | _ 2

Why the enthalpies of atomization n%ithe transition metals are high ?

o
7, RREEA $OT GRET @ SeET aika e R 2
. ¥ g

Explain with example Williamson Ether Synthesis.

%%

C1P%

|
A

R

(i) QEfeiHTer
Describe the following :

() Cannizaro reaction

6274

(i) Acetylation |

o. fais Tt w3 frdw % R e e Tl v 2

Give one chemical test to distinguish between secondary and tertiary amines.

229/(Set : B)
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10.

2 v (11) 229/(Set : B)
I
g UG 999 | _

[ Short QEEswer Type Questions ]
2t

Gy O S FET FeAHE S H ARG Hifvg) - 2
Define mole fraction and mass percentage.
_ i |

() @mﬁwﬁﬁﬁ%ﬂ%m%%,@mw, 1

Give an example of a snli%fsnlutiﬂn in which the solute is a gas.
. o N _

11,.ﬁﬁﬁrﬁﬂﬁ%mﬂwmaﬂﬂﬂzﬁ%mmﬁaﬁwﬁmﬁmm%:

(i) T AT Cu?* # Cu \* :

fii) TF QI FeO N Fe,0, 1

ol

- (iii) TP AT MnOZ~ ' MnO, | 1

How much cﬁarge required in Coulomb for the following reductions or

oxidations ?
i) 1 moleof Cu?* to Cu

(i) 1 mole FeO to FeyOj.

B76274

(iii 1 mole of MnO3; " to: Mn

229/(Set : B) | . E];eﬁ e P.T.O.
_ . o

[=5]:7
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. 229/(Set : B)
. mﬁ;mmﬁﬂﬁrﬁﬂrﬁgg%m'waﬁﬁmwgm arffspar Iof 2
¥ @ A9 T Y T A 3 _ 3

For a first order reaction, show tlﬁt time required for 99% completion 18 twice

the time required for completion o@o% of the reaction.

[~
M

18. TR A [NCL )" ergadm ¥ s i [vi(co), | sResa ¥ Fai AR agehh 873

Explain why [Nicz:q]zﬁ 1S paramagnetic while [Ni(CO)4] 1S diamagnetic rthDUgh
both are fétrahedral ?

. <
-
14. (i) g YIRS F4 B ¥, Fe wika qwesy ? 2
' m
¥
G
(i) = & SwErT ford @ C g 1
(a) ﬁv'ql:f
(b) é’[n_é"fbﬁn

(i) What are Ambident Nucleophiles, explain with an example ?
(i) Give the uses of :
."(a) ~Freon
(b):: D.D.T.

<t

. e
&-éﬂﬁ-ﬁ@mﬁqﬁﬁﬂ—ﬁsﬁmﬁﬁ,qﬁﬂﬁﬂﬁﬁmﬁ%?tﬁm@m%
TG G SR ' as ' - 3
Why -ortho-ﬁitrqphennl and para-nitrophenol are more acidic then phenol 7

' Draw the resonance structure of phenoxide ions.

229/(Set : B) - ,
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. (13) 229/(Set : B)
16. (i) mewwml 2

: note on carbylamine reaction,

L™
) Qe o % P ¥ o 8
[

Why ethylamine is soluble 1n Water whereas aniline is not ?

17. () 'RNAT DNA ¥ $<R 0T

Give differences between RNA and DNA.

<
o Sgear g A E 7 @ e Ay
(i) SE-3T o
.
What are Biomolecules ? Givefwo examPleg. 1
[E].538

B

[iﬁﬁaﬂﬂqwl

[ Long Answer Type Ques__t,:iu:ns ]
18. () @rwew & Fram o ¥ 2 g g a?r:raaw T
* What is Kohlrausch law ? Discuss its applications.

<t ]
(ii) CuS0, 3 e Gl 1_5 ;Qﬁq'q‘{ @ g 9 10 BHe d® %l'ﬂﬁ quqiéﬁ m eI S
i @ & FE @ Ay (Cu®s) & . .

A solution of CuSQ4is electrolysed for 10 minutes with a current of 1.5

amperes What is the mass of copper deposited at the cathode ? (Cu63-9)

229/(Set = B) | OO

[ o
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o ) 229/(Set : B)
N E |
o OR
(1) KW%?WQ%%@WWWHW@W@WWW
' 3

iy : < , |
(i) 0.02 mol L™ 3z AP B 46.1 S cm? mol” 1 FHH ferarst AT 3
ME DO o ¥ f5 2%, =349.6 S cm?mol™ T

| \ (HY)
)=54.6 scmﬂ%rl. i . 2

Q

[HCOO‘

The molar conductivity of 0.02 mol L' methanoic acid is 46.1 S cm? mol ™,
Calculate its degree of dissociation. Given I&,.D'[ H+]'= 349.6 Scm?mol™’ and

. us . - - f
A (_HCOD_] 94.6 'S cm“mol . E:-
}
19 i) K,Cr,0, # olfEier B & S i aur Frefiied @ a smafee aeiee
|  TRAT : (o) SRS A (b) OTERA (1) B () H2S. 3
Describe the n_xidising-., action of K,Cr;0, and the ionic eQuﬁtinns for its
‘reaction with : (a) iﬂdid¢ iﬁn (b) iron (II) solution (c) Hz2S.
(i) SR R § Bredeh ot S ged ST W TN NG, AR S WA F
... Caleulate magnetic moment of a trivalent ion in aqueous solution with.
. atomic number 27.: .. |
220/(Set:B). % '
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(15) 229/(Set : B)
HYdT .

OR
<H
(i) WWW%?WWWWWI

o

(i) AT T D B AMH B @A R Fy F 7 gz wg v 2

- Why do transition elements exhibit tendency for complex formation ?

Explain with example. i

rﬁ-..
. ' [N
20, 7 & T A R, 5% PSS dieq dped ? - 5
() EEERT fhde i 2

0 () 2,40 To Mo
| ity
(iii) P FoRRE
(iv) S-TdeE
() B
What is meant by fqllﬂwing term's, give a;/;—éﬁample of the reaction in each case ?
(i) Cynohydrin .
(i) 2, 4, D.N.P.. N
: 5 18 ; N
g (iii) Kolbe's Electrolysis \[f
'  (iv) H&mi-_ace.l;a_l ' | A
:[v) .Ketal 2 , AR . . . .
- 229/(Set:B) - % INES | P.T.0O.
www.OursGuru.in
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Describe with equation -

(i) a‘]ﬁ—'ﬁﬁ%ﬁ? SRERE
Wolff-Kishner reduction

(i) UeSid HU+ SARfEaT
Aldol condensation reaction

(i) FEEEe s

Decarboxylation reaction |

EFE
5
55

Bl

C)

B76274

B76274
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CLASS : 12th (Sr. Secondary) C_Od& No. 229
Series : SS/Annual-2023

R{}HND.L ,_| gofublt B A s | SET : C
T s '

CHEMISTRY

70275

[ Hindi and English Medium ]
ACADEMIC/OPEN
(Only for Fresh/Re-appear/Improvement/Additional Candidates)

Time allowed : 3 hours ] - 3 | ' [ Maximum Marks : 70
o FY T F T [F 3T g97-99 § gRT g 16 Wﬁfﬁzo &7

Please make sure that the printed pages in this guestmn paper are 16 in number

and it contains 20 questions.
[&]5: =]

Im

o T97-7H H e &Y # &I R T Fe T T G F IF FI-JRaH I JE-IT IT
fere] o |

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

: . T T %Taﬁ'ﬁ%aw @ F7 G TET, ST H FHE ST R

% -ﬁefore beginriing to answer a question, its Serial ff@mber must be written.

. N
. WW?W#WW/@#?#; x
Dnn’t Ieaue blank page/ pages in your answer-book.

www.OursGuru.in
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. WW#W#W?WWWJ W?W@W@?W&ﬁ?maﬁ??

Fe/ i"?‘*

: N ( _
Except answer-book, no extra sheet will bg“gwen Write ta the pﬂmt and do not
strike the written answer. ()

gl STy Ut To FIT-YA GT HFvy [ ??c-rra'a  SIARTT J97-97 9C o 38 4 T
@ Gl 3Fleqs F971 B T YT [ FaT I [T T T

Candidates must write their Roll No. on the, question paper. Except Roll No. do not
write anything on question paper and don't firake any mark on answers of objective
type questions. N |

F7I F97 % GOT 87 & [d 78 ghRead v 797G g Tel 8 qhEr % Iy 59
W##ﬁﬂ%ﬁ@?@ﬂfﬁ: % Tf

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no cluim in this regard, will be entertained after
examination. |

%

Wﬁé‘w

(i) Hﬂ?mam#a?f
{ii)*-WM#WGWWWWW%
(i) 97 g 1 #‘W@'u-xv] a?gﬁmm#wvé‘fmwm ww%ﬁ‘ﬁﬁé‘a@?

T org Fae-gra 7 ke & m
(iv) 797 GEr 2 & 9 Waﬂ%@aﬁﬁawv@mﬂm w#asr?zmwa'w Sk

(v) FT HE10 & 17 aa;agaﬂ??erm'é‘x % 37 3 ST BT &1 J% T B FX

Wdﬁo =] 7 Ao

- 220/(Set:C) gl %@E
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| (3) 229/(Set : C)
(vi) ¥97 TEr 18 @ 20 aa;a‘?a‘am‘?zmwé‘&_lmm's IH F &1 FAF F97 H TAC
TTHT 70 g1 7 Aoy | ™

(N
O
(vii) ma-wﬁmw#eﬁ?ﬁmaﬁ%WS sfE ar at e G ged 7
SaRF a7 JarT [Bar 1ar & Q7 79Tl 7 @ oIvE P v & g7 A 81

General Instructions :
(i) All questions are cumpu!_sury.

(ii) Marks for each question are indicated fgainst.it.

r.-\ +
(iii) Question Number 1 consists ﬂfﬁﬁeer@i-xv] objective type questions carrying
1 mark each. Candidates have to wr@ the correct answer in their answer-

book.

B
. Ty
o

(iv) Question Plufumbers 2 to 9 are very short answer type questions of 2 marks

each. Answer these in about 30 words each.

(v) Question INumbers 10 to 17 are short answer type questions of 3 marks

each. Answer these in about _40 words each.

(vi) IQuestiﬂn Numbers 18 to 20 are long answer type questions of 5 marks each.

Answer' these in about 70 words each&_]

| £y (vii) There is no over all choice. Hawau% internal choice is given in all long
! answer type queStiuns of 5 marks eaég, You have to attempt only one of the
. _ 5

given choice in such questions.

g . oo O
229/(Set : C) o %ﬁ B e

S—
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e 1]
A

' __{ii)'

n (4)
[ R o9 )
O

| Ohjﬂcti@ Type Questions ]

R FqYi% ard BT it o1 e ¥ 7

() Reaarf Ll'7(B} syt e

(©) TR ?ﬁm 7 3 B¢
Cc:nstant Bmhng Mixture arte‘zcalled

(A) AZEOFrquS'_ | - (B) Idealj Snl_ﬁtiﬁn . |
(C) Isntnni;r:. el (D) None of these{

e )

W@ﬁﬁﬁwﬁﬁ?ﬁﬁﬁgﬁmméﬁr%?
‘ﬂ%ﬁma@ﬂﬁs
.(B_) i o b
| (€) eqfﬂﬁmra@mg §
D) ﬂ*ﬁﬁwsrsemzs "

229/(53t C)
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(5) 229/(Set : C) |
In dry cell which of the following is the [Electrolyte ? |

(A) Potassium hydroxide g

(B) Sulphuric acid .

(C) Ammnnlium chloride

(D) Manganese dioxide g

e :

(iii) mm%mwmmﬁ%%{ aﬁmm%%ﬁwﬁﬁm ?

e sfufhas i g g,:;;h P q Y ? 1

(A) 2 J°om (B) 47

() 8 7m (D)

A reaction is second order with respect to reactant. How is rate of reaction

affected ? If concentration of reactant is doubled ?

(A) 2 times - (B) 4 times
(C) 8 times (D) L tithes
e 4 I~
(iv) A K3[Al(C;04)s] F Tegiram 1 SraggAomT F E ? ' g
(A) 3 1 (B) 4 ¥ |
(C) 2 (D) 6 ru
229/(Set : C) ' foR PO
| ' ] 3 [5]
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(6)
What is the co-ordination' number of aluminium in

compound ?

@A) 3 (B) 4 'O
) | D) 6 &]
<© 2 D) .58

. O

frefoiad % & Reweer faga oot =grem @ 7
(A) CCly £ 3 (B) ~ CH3Cl
(C) CHCl g (D) 'CH,CL,

)

Which one of the fﬂllnwmg has the lﬂ{'vest dipole moment ?
(A) CCl, (B) cﬁﬁcz
(C). "CHEOY (D) Cchsg

E]r

ey

- (vi) FrrAfere 5 9q Eﬁlﬂ-ﬁm' Hﬁ'@llﬁﬁ% ?

T

3

() (CH3),CHOH ~ . (D) (CH3)sCOH
Inthe fo'llnwi.'ng which is,__strﬂﬁgest acid ?

(A), CH3OH (B) ,CHchHQOH

£ ' '  ant )

() (CHa),CHOH ~ . (D) (CHB)aCOH

s ] s ;
i T N
o ek SRR O

“www.OursGuru.in
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229/(Set:C).

. - : ¥ - i
#J' L: - n
o i i 7 Mo e | ¥ . . ! n g |

(7) 229/(Set : C)
(vii) A (CH3)3 CCH,COOH 1 TUPAL A1 ..., 2 1
(N |
[UPAC name of the compound {&Hj )3 CCH,COOH s .............. .
8
(viii) -8 Jdgs. Tfe & 2 1
Ty) _
(A) tReRE (Hyy o
. e
(C) N-ARTuRmRHN {Hr\ln FEUERIIE]
Which is a tertiary amine ?
(A) t-butylamine - (B) Ethylamine
(C) N-Methylethylamine (D) Triethylamine
(x) P & & $9-81 4% DNA ¥ ¥ AR RNA & 7 7 1
(A) AT - (B), WEIEH
() Wi iies: 1o (D)y A
. - : , . | ' . | m & N
Which base is present in DNA put not in RNA ? -
| S
© " (A) Thymine (R Cytosine .
(C) Adenine | (D) Uracil

PR Q:

www.OursGuru.in
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(8) 229/(Set : C)

(x) ST B BIE B oo, S K=3x10"*mol L71S7.

when K =3x10"*mol e,

)
g

(i) ﬁﬁaﬁwaﬁr%aﬁﬁq , | ' t

CEHE,OCHB + HI —} ............

Complete the following equation :

m 5

(i) R @ (By) P F F BT AH AL .o gl ik K

. Deficiency of Vitamin 'Bi' causes .............. :

(ﬂii]%ﬁﬁ%_w.%fww%l?_ PR - :
Wﬁﬁt.is cﬁuse of depression in freezing pniﬁt ? |
| 1 9 - _
(xzv) [Cr(NHa )3 (Hgolgbzs ﬁ’rﬁ‘ﬁﬁ 1 [UPAC ¥ R-‘frtqq. W .

~ Write IUPAC name of [Cr(NHa )3(H20)3] Cl3 Cﬂmpﬂund

‘www.OursGuru.in
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(9) 229/(Set : C)
(mmﬁﬂ?ﬁﬁﬁﬁamrﬁﬁ%maﬁméﬁﬂ%mmwwl 1

Name the reagent used in Oxidation of a primary alcohol to aldehyde.

L)
["‘-..‘

[aﬁag%ﬂﬂml

[ Very Short Answer Type Questions ]

-2.a_gqﬁsiﬁm(CHscoc}H}%SOOg%ﬁﬂﬁﬁﬁmﬁaﬁ%ﬁﬁmﬁﬁm 2

Calculate molality of 3 g ethanoic acid (CH;COOH) in 500 g of Benzene.
.0

3. bR A e dur Haee oTaRY B BRWRT Bt , | 2
- Define Molecularity of a reaction andtollision frequency.
-
CIEK
4. SUHEEAo GHEEE B SweR Hied A #o ' - 2

'Explain Co-ordination isomerism with example.

=t
i .l‘-'\-..j i

h“-‘?,"i‘x'[ ' |
awﬁmﬁwﬁwaﬁ%?wwﬁmﬁm| | 7L 2
What are ambident nucleophiles ? Explain w1th an ﬂxample
6w Ay w: o A @ w@% ? , ‘ 2

‘ Why transition metals generally fﬂrrrf%nluured CﬂI’IlpG'LlI'ldS ?

| 229(Set: C)

] . N
= -
it e TN P T ST L T e

www.OursGuru.in
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(10) 229/(Set : C)

;2 m—ﬁwaﬁﬁﬁmaﬁmﬂ%a@m| 2
‘ N
Explain with example Reimer—Tieri[@nn reaction.
O
8. MU & M # qRafda #¥ ' 2
Convert Propanone to Propene. [LS
- o
9. U T N-ARN & fde & R, oo wmaf e alierr i 2

Give one chemical test to distinguish between aniline and N-methylaniline.

[agaﬁ'ﬂﬂm]

: ' [ Short Answer Type Questiuns ]

10/@ m%ﬁm@rmm@wﬁwemwm%? ' 2
What is meant by pnsmve and negatwe deviations from Raoult's Law ?
(11] ﬁaﬁﬁiﬁ@m%@ﬁmwﬁmaﬂﬂaﬁmﬁww%? 1
What role does molecular meractmn play in a solution of alcohol and
water. 2+ _ E\: '
11. ﬁ%ﬁ%wmm%ﬁgmﬁaﬂ%mﬁmqﬁmwg? ?
ik et (i) Q% fﬂﬁ PO mipp2t :
e Ghio

www.OursGuru.in
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(11) ' 229/(Set : C)
(i) U AT CaCl, B Ca s ' 1

(i) Th AT MnO,; @ MnO,

10275

How much charge required in Coulomi) for the following reductions or

oxidations ?
(i) 1 mole of Pb** to Pp2*
(i) 1 mole of CaCl, to Ca

(i) 1 mole of MnO, 'to MnOy

C716275

i

12, w W B # SRmE 1 R 1. 15x103s"! ¥ 59 offear ¥ RS B S g

waﬁwagaﬁﬁmwaﬁm? | | | 3
- A first nrder reaction has a rate constant: 1 1.15x10735"!. How long will S g of this
ﬁ reactant take to reduce to 3 g '
4 13. ,aqarf{q zftﬁ [N:(Hzoyﬁ] e ﬁaﬂ?r T3 g [l cmq] oy foma FT'E?H X7 3
| W‘* | Explz-:-un why a solution of [N:(H 20]6] is g;een but a solution of [N;(CN Py o ™
o | %
coluurless ? O
Ty r-" .
-
h : .
III 3
et o U e R T
W, | iamaw S B
www.OursGuru.in
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ik 220/(Set : C)
A4 syl 7 Sy* st ¥ ARy & AR wiapd AN B AABeasiEE BB ST
- ISy L 3

2

Predict the order of reactivity of the four isomeric bromobutanes in SN1 and
Sy? reaction.

)
15. RUFNNT B HID T b 3 e Ryfaa 3
O

Write the mechanism of the reaction of @ with Methoxymethane.

| 16. (i) ?r%rqa%ﬁmﬁsm%wq?agﬁmﬁ%ﬁm | 2

Write short ﬁc}tE'_ﬂn Gabriel ﬁhthalimide synthesis.

(=]

s

bk

(i) T Ul sred-hrey e weifa w8 e 7 1
i Why Aniline does not undergo Friedel-Crafts reaction ?
17. () WRR M ¢F Mo N9 § s fifgw 2

A 3
Write differences between fibrous ammd globular proteins.
N

(@) %ﬁaaa‘a T ST R AR T a:%% ? | 1

What are hydrolysis products of lactose ?

_,2_;39/(Bet_:c)' ',,_ | 5 Eﬁ

- =15 E
www.OursGuru.in
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(1)

i

(1)

""""""

(1310 229/(Set : C)
[ < aﬂﬂt@m ]
[ Long Answer Ty$g Questions ]

18. () E-TEERE AN @k ? o g R _ -

What is electrochemical series ? Give its three applications.

[~
N

N® . ;
N;'S%%@iﬁw.iﬁr%ﬁ'ﬂ%aaﬁ%iﬁﬁ 10 YaER g yafed #7d &L,
10 firfe o R omeer B T Vi R e e o AR 8 7t ) 2

A solution of NiSO, is electrolysed between platinum electrodes using a

current of 10 amperes for 10 minutes. What mass of Ni deposited at the

cathode ? (Ni°%7)

=
(=l

OR

. g g

"%Tammw%?m%mgﬂ%ﬁmﬂﬁmwﬁ%w%m 3

N
What is Molar canduétivity ? Disgss their variation with concentration
& |

graphically:

e %‘?ﬁ% - PO
- 229/(Set:C) Fo o It - Y
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(14) ~ 229/(Set : C)
(ii) uﬁ@mfaaamﬂlsﬁfﬁqmﬂ%wsaﬁ%%qmﬁﬁ@?ﬁ% d R # 7 fhew
Wmﬂ%ﬁéﬁr? [:-- 2

If a current of 1.5 amperes flows thmﬁgh a metallic wire for 3 hrs, then
how many electrons would flow thrnugh_)the wire ?

19. (i) WATES HHo F ¥ ? AAGS wopEe & & RO Rty 2
What is meant by Lanthanoid Contraction and write down its two
consequences ? e | ey 5

(i) KoCr,O; @l ST BRT &1 I %‘I‘l SR ﬁ": % Y SIS g
LS _ b . 3

 (a) eﬁrssseﬂa:r

- EHaE
! -
EiE

(b) ST (II) SRR

(€) :LHRS wt 2y
‘Describc the uxidizing action of 'K20r207 and write Ionic equation for its

U 7
~reaction : :

(a)  Iodide Ion

' ‘.'(b} Iron (II) Solutiont

C76275
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atomic number 25.

i .
- '20. Describe with equations :

B AT SR

| Canniz'aro reaction
(11) A STIEE

R - Clemmensen reduction
, (i) iﬁ?@s AT
.. | Rﬂsenrnund reductmn

229!(Set C)

g L L
NI
7 i
L Ry e = s
.k‘.l.rl
|; -..'_“"II T ’

s
LR A
f:*..,“:-}'.-;ﬁ'\- -'-\. - R |
Y v "_h]:-l..ﬁ_-h ||' E’ 1
h

1"1;- 5.5 "u e

d

" s

—
—ly
(&)

p

3

0

C762

(1) Wmﬂmﬁmqﬁﬁwl

(

Prepare Potassium Permanganate frum Pyrulumte ore,

75

(11) _Wﬁwﬁ%ﬁﬁﬁrw%ﬂmﬂu%ﬂﬁmm,ﬁmmzs%« 2

Calculate the Magnetic moment Gf a divalent ion in aqueous solution with

Ty
™
(N
(O
[
)

www.OursGuru.in
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T

OR’ |
I'Q) |

G Frers AN (A) Prae aftas a8 CgHgO %;\32,4 DNP aifvefss & /™ aren-ae
HEAT T FT T O NaOH FH SuRERy # fg%mnﬁmﬁqrwwwmmﬁﬂ |
m%&%%%-a%%m%—ﬁmﬁwaﬁqu@%
AN o oreEr e B iR w3 98 B ot E yaw SfiEscT §
q% FATRRE o (B) a9 & R onftas g5 C,Hg0, 2 A (A) @ (B) B eI

qd HgRT SAHTRAST P q9ER | | 5
0 .
An organic compound (A) with Molecular fnrgrﬁula CgHgO forms an orange-red
‘ O

precipitate with 2, 4 - DNP reagent and givegyellnw ppt. on heating with I, in

D
[ {3

presence of NaOH. It neither reduces Tollen's or Fehling's reagent nor does it

decolourise bromine water or Baeyer's reagent. On drastic oxidation with
chromic acid, it gives a carboxylic acid (B) having molecular formula C;HgO,.

Identify the compound (A) and (B) and explain the reaction involved.

C16279
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CLASS : 12th (Sr. Secondary)
Series : SS/Annual-2023

Code No. 229

D76272

Roll No. | SET : D
(GIBEEEEIEE
CHEMISTRY E
[ Hindi and English Medium
ACADEMIC/OPEN [
(Only for Fresh/Re-appear/Improvement/Additional Candidates)
ﬁme allowed : 3 hours / ' [ Maximum Marks : 70

o« FV T T T 5 57 qo7-99 7 GRT 9T 16 @@ 597 20 &

Please make sure that the printed pages in this question paper are 16 in number

and it contains 20 questions.

o -7 F qRT &Y # T RE T HE T qur G # O Tav-JRaw F JEI-g I
S]] N

The Code No. and Set on the right side of the question paper should be wﬁti‘en by
. the candidate on the front page of the answer-book.
e P ITRT T RET §& #WA G e, I # T o R
i J . N

Before beginning to answer a question, its Serial Number@ust be written.
AT P" |
_ Vi e 4 A
~ Guv-giaw # & 7 @l g/ 7 8
H Dan’t leave blank page/pages in your dnswer—bmk.
AaT s | _ &5 2
229/(Set: D) - ' (5] % [a] P.T.O.

S T e T N~ i g
! T e e O " ) # ;
= " Y . &,
-
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e R e P e T e . T R T e R L e N e s s, T ™ T TR R s ™ 0 I o e i = —— TEEa——
‘--'"-\-.,._ - -
..““_-.
5 .
L]

(2) - 229/(Set : D)
‘ o TTT-GRTE & STIRFT BF 9T e T&T i ofT: STaIHEATAT & kid S frar guv 7
FIc) |
‘ N : | .'
T Except answer-book, no extra sheet wimbe given. Write to the point and do not
strike the written answer. ‘\9
o GO S AT To TG T ST I Fo 3 AR T 9T o FT 7

ford Sire e 797 % SRl UT e ST A T T

 Candidates must write their Roll No. on the question paper. Except Roll No. do not

write anything on question paper and dan’t make any mark on answers of objective
type questions.

o Y I 3 T3 @ gf 77 ghheT @ go7-97 qof 7 7@ 8, qhem % YT 5
-ﬁw##ﬁwa?@v?ﬁmmw

Before answering the questions, ensure t%:zt you have been supplied the correct and

complete question paper, no claim in this regard will be entertained after
examination.

T 35T :
(i) ﬁ?#mafﬁw#?f _
(ii) W‘ﬂ??%%eﬁ#w@qugf

(i) 7T gEr 1 ¥ i - xv) q@%maé‘w?é’fﬂﬁ?fﬁwm 3 # &1 [ wel
- guY o vyl 7 fad 8 |

(i) g97 GEr2 G 9 aﬁwﬁagaﬁﬁaﬁﬁé‘zmmz Ww?zmm?wm

EWWSO o=l 7 oy E-

& ﬂ?wmg 17 r?"a’:fm’g TV 2T €1 AT 97 3 ST # &1 HeAF 49T @ T
WW4O gt 7

;"2291(5&: t?)'_ 1 - - ' _’ %
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(vi) 77 G718 @ 20 7% HF GOT 997 & 79% 997 5 wﬁw%mw?waﬁ?

W?O-ﬁ?‘@‘a?z%m I

(Vo) ToT-a7 7 & &Y § FE Ry 7@ & awl 5 o aw @ 95 awiT gei A
- WWWWW%@@###W%W&WHW% '

General Instructions : g

W r‘h
() All questions are compul$ory.

e S T TR T N A LA TR R T AR S e O

oy
Ty

P o T TR

(@  Marks for each question are indicated against it.

- a—
L

e e L T L S D L L T i .

| (i) Question Number 1 consists of fifteen (i-xv) objective type questions carrying
| 1 mark each. Candidates have to write the correct answer in their answer-
book. | | .

(iv) Question Numbers 2 to 9 are very short answer type questions of 2 marks

each. Answer these in about 30 words each.

(v) Question Numbers 10 to 17 are shar“t answer type questions of 3 marks

each. Answer these in abﬂut 40 wﬂrds each

- - — e T . AR el R il . —

. (vi) Question Numbers 18 to 20 are long answer type questions of S marks each.

- N
Answer these in about 70 werds each.
N

.(W) There is no over all chmr:@. However, internal choice is given in all long

g S =

answer type questions of 5 r'?in,‘-::.u"k.s each. You have to attempt only one of the

- given choice in such questions.
- ; '_.?_29f(:'8e"t:I'D). Bl e . s a5 . P.T. O.
www.OursGuru.in
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(4) . 229/(Set : D)
[ TGS 39
| Objective Type Questions |
N
1. (i) %ﬂwwaﬂmaﬁi@%? ]
[~
(A) HidAwd = (B)

(C) W (D) ga ufeE
Which is indepegdent of teﬁlperature ?
(A) Molality

- (B) Normality

(C) Molarity

N
r-."
N
o
P~
-

(D)  Volume %

(i) RveE R WS (SHE) 3 fy @ved @ege M ¥ 1
@A) 0.5V R Nm) +10V
(C) 0.0V o (D) +2.0V
Sténdard- Electrode potential for Standard HYdrugeﬁ Electrode (SHE) is -
= , _ .
t'-..
(A) -0.5V S (B) +1.0V
. o S D
-
(C) 0.0V , (D) +2.0V
_ _'-ﬁ;;ziza_/(s.et: D_)' ‘
E |
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(iii) T SR AH SRr sor qor B B ofy Pt AR @ ¥ A whewr fefe 1
(A) T = k[a]?[B]" B) ¥z K[a]'[B]'
[~
(© ¥ =kla] [B]’ o) L&Al [B]
| L

-

A reaction is first order in A and second order in B. Write the rate law
equation :

(A) Rate = k [a]*[B]' (B Rate = k[a]'[5]

& (C) Rate =k|[A] [B]? (D) Ratg -x[4] 8]
A ' =
-

: (iv) AR [Pt(NHs)zCI(NOzi] 7 @ﬁ"ﬂ f SEEdE A Y 7 1
AV A i e [B) B
(C). 6 - i (D) 2

What is the co-ordination nurhber f:;f platir-iurh' in [Pt(NH3)QCE(N02-]]

compound ? E
(A) 4 R .(B) 8 ~
€ 6 (D) 2

El l '

 229/(Set: D) PO
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(v) %WWWW@W%BJQW%: 1R | 1
(A) e ;;g (B) Sy '
(C) Sy° '@[D) = A B T
A primary alkyl halide wnufa prefer to undergo
(A) Elimination (B) Sy’
(©) " Si2 N'(D) None of these 5
(vi) WEQ@WWW%%W%%? _ .00 1
(A) TR B) ¥ L
(C) W 3 ' (D) FE

Williamson synthesis is used to preparé :

(A) Almhnl' Wh (B) Ether
(C) -Amines & i (D) _Ketﬂnés
(vii) AR CH3CH(CH3) CH,CHOF TUPAC A .............. ¥ .
JUPAC name of the campmﬁd CH3CH(CH3) CH,CHO is ...... e l, , |
L (vidd) e @ e ef @ wed iy foRew | i T 1
. CgHsNHjy, C2HsNHj, (CoHs),NH, NHj |
Sagog/Set:D); %
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(7) 229/(Set : D)
Arrange the following in degrgasing order of their basic strength :

P
CeHsNH,, CoHgNH.,, (CH3NH, NHj
s
i m -
(ix) W7 ot oneht & } Bran gawr i 7S ? 1
(A)  wrgdN B) ¥ \
(C) Tart (D) HH
£ o |
Which of the following ami@ acids is not optically active ?
(A) Glycine I5(]551] Valine

(C) Alanine ’ (D) Leucine

=
o

(x) RS AR .. S K =3x10"41%mol2 §71. 1
Order of reaction is .............. ,when K =3x10"*1?mol™2 87!, 5
(xi) = TR @ QU FIT sy 1
CHLCH, O a2 22 o 3 s
(e 413K
. . . " N
Complete the following ﬂquéignn :
. . % ne. HySO.
CH3;CH,OH kit e TSR ¢

413K

P 14O,
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(xu]fa?[ﬁ:f@’ﬁeﬁ'ﬂ@f@ﬁlﬁﬁm .............. 2 - 1

Deficiency of Vitamin ’Ig causes

..............

(xiti) RTERT & 41 & ? 1
What is osmotic pressuge ?
[~
- N
(xiv) K3[Fe(Cy04)3]4IM El'a'r%-UPAC M e | 1

Write IUPAC name of Kj[Fe (C,0,4)3] Compound.

(xv) T YRR B wERRRE o omRdEeT R agE s W@
ERIE | 1

Name the reagent used in Oxidation of a primary alcohol to carboxylic acid.

[very Short Answer Type Questions ]

2. 4.6 g@?ﬁ?«r (CHACH,OH) & 200 g =i ¥ {qaae & faern @t 0T Hiy g

Calculate thE: Mnlallty of 4. 6 g ethanﬂl (CchHZOH) in 200 g nf benzene.

‘3. G?Eri'gaﬂTeﬁth aiﬁqﬁﬂr@ﬂ#ﬁm e | 2
[{‘" . - Define half 11fe period and rﬁte of reaction.
4.3@@%3%%%@@@%@%@1 | )

Explain polydentate and bidentate ligands with example.

-

229/(Set : D)

y i
k
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8. Sy’ SRR F Y ? e Wy awem w4 | 2
g

Whatis Sy' reaction ? Explgn with example.

6. HHAT €T T 3T 9T AFgTH IIH H T4 7 F & 7 2
| ™~
- N |
Why transition metals and théir many compounds act as good catalyst ?
iy
= |
7. ARSI R Ha-shaed Avpaerir H1 SaTe qied AR HRg 2

Explain with example Friedel-Crafts alkylation of Methoxybenzene.

8. QI Pl Fe-2-§4a F qRafia H1 2
: Cﬁnvert Ethanal to But-2-enal.
9. FHiEaUHH STk WX EiRe fewel fifew | 2

Write short notes on Carby]aﬂine reﬁctiﬂn.
_ W &
. q g S 5 )
ko 3 [ Short Khswer Type Questions ]

g

10, (i) IRERYT O Hfd QREROT S SIer Aied gRefe i, 2
o . . Define Osmosis and Reverse Osmosis with one example of each. 5
".-'_f:'-;~;_2_'29!(SE_t . Dy E;j P T30

www.OursGuru.in
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1

=
Give reason for Abnormal Mﬂ]%UIELI‘ mass.
o
11.W%men@ﬁ%fﬁnﬁﬁ%mﬁﬂz@naﬁwm%? 3
() TP A Fe°t & Fe?t
(i) T A 2znO & 2zn
N
(i) T AT cro, B Cr* »
O

How much charge required in Blnulnrnb for the following reductions or

oxidations ?

(i) 1 mole of Fe* to Fe?* DR
@ﬁﬁ [EIEH |

(11) 1 mole of ZnO to 2n

(iif) 1 mole of CrO; to Cr*

12, WiTH §d8 W NHy H 98T A Hife & af¥fear &1 v, & 1, 3 SqeT @ a1 7

2R, S/ K AN 2.5 x10~* mol L*ls:l-a ? ’
.

The decomposition of NH3 on Platfifum surface is zero order reaction. What are
the rate of production of N, and I-E FK="2510%mol [-1g7L 2

!
i
b
i

*
- r—— ———_—

229/(Set:D)

T T T T S e
1 = s = PRGN
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(111) 229/(8&1: )
13. §9FEY A [Fe (H,0)¢ |° * vae m@aiﬁu R e [Fe(c)s]’ 3T STgEHE € 7 3

Explain why [Fe (H,0)g]°"* 1:;-.strﬂr1gly paramagnetic whereas [FE(CN)E]:}ﬁ is
weakly paramagnetic ? =

14. CsHu%wmeﬁﬁﬁﬁfﬂﬁmﬁmﬁwmmﬁzﬁmﬁwww%: 3
| . G
() % T ATIRES \O
~
(i) dF THETE ANEEREe A

(il) IR THEEE ANERRES

Among the isomeric alkanes of C5Hj,, identify the one that on photochemical

chlorination yields :

(i A single monochloride

(1) Three isomeric monochlorides

-~ (iii) Four isomeric monochlorides

15 m%maqﬁwmm%mmwﬁmml 3.

Wnte the three steps mechan&n of hydration of ethene to ymld ethanol.

"-.Q

. () a‘rq,‘q]?faﬁﬂlg?ﬁ'ﬁﬁiﬁw | Hag.f%mﬁ,ﬁrlf&lt{l,,_ | Y

Write short note on Hofmann's bromamide degradation reaction.

PITYO.
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(i) @WW%WWQ&WW%WW%WWE@%

g7 SO | | | 1
N
o e
Why Diazonium salts of arc@atic amines are more stable than aliphatic
7 i
amines ? -
17. (i) TOEHEES! 99 T4 YCES §Y 97 § 7 | 2

What are glycosidic and peptide linkage ?
¥ | N |
(i) SFELIH T ST 1 Bld & 7 [~ : 1

N
O

What are ﬂsséntial amino aci% ?
[E]: 5585
: -
[&] %4 [w]
[€Y ST 999 ]

[ Lnng Answer Type Questions |

18. () 0.05 mol L' HCOOH # AWM 40 S cm? mol ¥ zgay RdieH "ET
g fdee ReRi® & g Eﬁrﬁm R & % x‘;m.—,.adfg.ﬁsg'm? mol ! T

[“‘"-_ .
The Molar conductivity of @05 mol ‘1’ HCOOH is: 40 .S cm2 mol™
Calculgte its dagrec of digspciation and dissociation constant, Given
2° . =349.6 S cm? mol™! and A’ yopo-) = 54.6 S cm? mol L.

3 (HT)

~ 220/(Set: D)
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(13) 229/(Set : D)
AT F1 ¥ 7 Wor @ e A R 4 e #k | | ‘

What is Cnrmsmn ? Explain methods to prevent corrosion.

572

e T ST T TR LT e S R e I e s

D76

OR

Cu(NO3),® R @ 0.5 P & o & 20 Prfe o dga orafed fear
e | PRARE BT F gNE F AW ? (Cub) o 2
| ki

A solution of Cu(NOj), 1s ele&rml}rsed for 20 minutes with a current of 0.5
O
: 63.5
amperes. What is the mass mﬂanppe_r deposited at the cathode ? (Cu )

Eﬁaﬂwzﬁrﬁww%?aﬂ%m@iﬁﬂﬁmaﬁﬁmﬁm 3

What is Kohlrausch law ? Discuss its applications wi_th examples.

Waﬁmwﬁrﬁﬁﬁqﬁmﬂm%?wmﬁwﬁﬁm 2

Why do transition elements eﬁhbn tendency for complex formation, explain

with example ? ' S
w@m%,ﬁaqﬁ%ﬁmgmﬁ? GT@WW[b)FEg+ﬁW[CHQSEﬁF
SifereiigpaT e B1 & SRS amﬁ%wﬂwi%ﬁ@m .

What happens when potassium dichromate oxidise (a) Iodide ion
(b) Iron (II) solution (c) HpS ? Write ionic equations for its reaction.

e P.T.O.
: 5 229/(Set D) | &
| — e ——————ESERT
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- (14) 229/(Set : D)
{--.*
N
=
- GH'WI
OR

(i) %Eﬂﬁvﬂw%ﬁﬁiﬁqﬂgﬂqﬁwﬁﬁmmmmm%i 2

; [~ . :
Calculate Magnetic momeqt of a divalent 1on whose atomic number is 27

&
["-q..,
b . - o )
(i) ﬁﬁﬁff@a-%mﬁﬁﬁﬁwam?ﬁaﬁm%aﬁﬁ%wqﬁmaﬁq: 3
(a) FHIE Rmarg
(b) SlerieHToT ST

© AR S

Cnmpare the chemistry of the actinoids with that of 'lanthanoids with
- reference to :

(a) Electronic configuration
(b) Oxidation states

! (c) Chemical reactivity

20. (2) () ®E HT AW N FoTD SEFPEAT Q@ ofes ot S 2 7 . 1
' (i) -STe- AT, TR T o1 it it B 7 i
(m)qaﬁﬁramﬁmeﬁuﬂ%?. 1
) P & R wheo fige 5

oo (i) BN SN Og e, %HTEI
i (i) @MIT 9 HNO; B e
229I(Set D) i)
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(15) 229/(Set : D)

a) (i
@) (i) Explam why propanol has higher boiling point then the hydrocarbon.

(i)  Explain why ortho-nitrophenol gg more acidic then ortho-methoxyphenol.
["-n.,
N

(111) Why alcohol is less acidic then ﬁhenul ?
. (-

(b) Give the equation of the following reaction :

(1)  Bromine in CS,with phenol.

(ii) Dilute HNO, with phenol.

536272

OR

PR aTRaelt @ ot BIRG :

| =8 '
| (b) CH3CHO + NH,OH N ‘ J 1
i - i
% ()i GLHRGHO + G HatOaE,, = SLNAOH, | 5
i (d) CH3;COOH + PCly i aJ 1
"; | 3 -
i (E) CHSOH-i- CHSCOOH > E 1 ‘
¥ -
h; Complete the following equations 5§ H ”
i (@) CgHsCH,CN dil. acid S
|| 229/(Set: D) , o EE | P TO,
d _
www.OursGuru.in
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(b) CH3;CHO + NH,OH ;

76273

D

v

dil. NdOH

(c) CeHsCHO+CgHsCOCH,

(d) CH3COOH+PCly —

() CH30H +CH;COOH HY "

D7e272

D76272
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